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Guess Papers – 2007

Class – x

Mathematics
SET - I
1. Solve the following System of equations graphically 


[image: image1.wmf]0

6

y

3

x

2

=

-

-


and


[image: image2.wmf]0

10

y

x

2

=

+

+


2. Solve for 
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3. In 
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4. A loan of Rs.12,750 is to be paid back in two equal half yearly installments. If the interest is compounded half-yearly 8% per annum, how much is each installment. 

5. One can purchase a room cooler for s.2,400 cash or for Rs.1,200 cash down payment and two monthly installment of Rs.610 each. Find the rate of interest charged under the installment plan. 

6. The perimeter of the end of a frustum of cone are 48cm and 36cm. If the height of the frustum be 11cm, find its volume. 

7. Draw a circle of radius 6cm. from a point 10cm away from its centre, construct a pair of tangents to the circle and measure its lengths.  

8. A solid metallic cylinder of radius  14cm and height 21cm is melted and recast into 72 equal small sphere. Find the radius of one such sphere.

OR

The total surface area of a right circular cylinder is 6512 cm2 and the circumference of its base is 88 cm. Find the volume of the cylinder. (use =22/7).
9. The mean of the following frequency table is 50. But frequencies of 
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 in class 20-40 and 60-80 are missing. Find the missing frequencies. 

	Class Interval
	0-20
	20-40
	40-60
	60-80
	80-100
	Toatl

	Frequencies 
	17
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	32
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	19
	20


10. A dice is thrown once. Find the probability of getting 

(i) a number of greater than 2 

(ii) An even number.

Write sample space of the random experiment. 

OR


A bag contains 3 red, 4 black, 5 white balls. A ball is drawn at random. Find the probability that it is 

(i) Black ball

(ii) Non Red ball.

11.  Solve the following linear equation for 
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12. For what value of k is H.C.F. of 
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13. Simplify : 
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14. Solve the following equations using quadratic formula. 

15. A passenger train takes 2 hours less for a journey of 300 km. If its speed is increased 5km/hr from its usual speed. What is its usual speed ?

OR
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Out of certain number of saras birds one fourth the number are moving in lotus plants 1/9th coupled with 1/4th as well as 7 times the square root of the number moves on a hill, 56 birds remain in vakula tree, what is the total number of birds ?

16. In figure, AP is a tangent to the circle at P. ABC is a secant such that PD is bisector of 
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17. A sphere and a cube have the same surface. Show that the ratio of the volume of sphere to that of cube is 
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18. Prove that : 
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OR


If 
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19. In what ratio does the point 
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 divide the line segment joining the points 
[image: image26.wmf])

5

,

3

(

A

 and 
[image: image27.wmf])

2

,

3

9

B

-

-

?

20. If the points 
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OR


Three vertices of a parallelogram are 
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. Find the fourth vertex. 

21. The following data relate to the cost of construction of a house in Delhi

	Items
	Cement
	Steel
	Bricks
	Timber 
	Labour
	Misc.

	Expenditure 
	30%
	10%
	10%
	15%
	25%
	10%


22. A round balloon of radius 'r' subtends an angle  at the eye of the observer while the angle of elevation of its centre is . Prove that the height of the centre of the balloon is 
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OR


The angle of elevation of the top of a rock from the top and foot of a 100m high tower are, respectively 300 and 450. Find the height of the rock. (Use 
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23. Prove that in a right angled triangle, the square of hypotenuse is equal to the sum of squares of the other two sides.

24. Prove that if a line touches a circle and from the point of contact a chord is drawn, the angles  which this chord makes with the given lines are equal respectively to the angles termed in the corresponding alternate segments. 

Use above theorem to prove the following 

Two circles cut at A and B and a straight line PAQ cuts the circles at P and Q. If the tangent at P and Q intersect at I. Prove that P,B, Q and T are concyclic. 

25. Mala aged 28, is a PR executive and has an annual income of Rs.3,00,000 (excluding HRA). In addition, she gets a performance bonus of 7.5% of her annual salary at the end of the year. She contributes Rs.2,500 per month towards Company Provident Fund. In addition, she has donated Rs.10,000 towards Cancer Research Society, which is eligible for 10% deduction. She pays Rs.1,850  per quarter as premium on her LIC policies besides investing Rs.30,000 in her PPF account. What amount should be deducted as income tax from her salary per month so that the deduction in March is not more than Rs.1,000 ?
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